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Retomal Tphationa| Raiodx/ Recl Rmel\/ Tma(ﬂmo.bg
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2. Find the Praime Hetonisation of 540 Using tree

>

540
AN
@ 220
7 .
® 136
l

{ w

T")ch‘g)ne 't%e Pyirne faatoniza®ion of 540 .s
= 2" CRE
3 Find out 4he all Patms of $40 .

-_> .
Got it fhom numben ‘2,

The p)@'\rne Cactum oation of 540 |9 = .‘2\/- 8", S

So, the +optal numbew o(’ Loctms of §40 »
= (240 B+ (H) = 3:4.2 = 24




|

Colaulodion 4n all Pactong,

B40 = 4x 640
= 2X 3%290

=4 X183

n

= 3% 190

"

G x 90

= 12X 4%
- 6§ x¥409

= 10x84

= 20X 27

20X 60

= 1@ X80

=~ 36K 1%

The HAucdomg off 540 ame

12,9,9, 6,12,5,40, 20,9, ié" 3¢, 15,30, 60, 23, ©4
102, 45,90, 490 135 270, $40.
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4. What 19 the GeD & LOM of 240 &Bq_o.\

._>

Griver Mumbers are 240 &5‘10 |

R40 = 2420 = 2260~2230»23 15 = 24.3-5
G0 = 2270 = 2-2- 186 = ¥ 3. 45 = 3~ 3% 152 2"3%g

Lem of  (240,540) = 249.3% 5 - 21€0
Getu of (240,940) = - 3-6: 90

5. Fnd the HCF omd Lem of 42/'@3 a'nc’ 140
—._> '

Givery numbere awe 42,693, 440

Thenedtme, the Prime factoriga tion of 42,63,490ax¢
42-2-24 ~92.3.7 ‘
63 :-32.21-27.3
J40 = 2.70 =~ 2735 - Q7 .2
L.CM O'p (49., 69, 440) - 2\/"3\/8 ¥ 21260
Hek of (42,63,140) - o




6. Fmnd +the HeFE omd Loem of n.-—zg—/ ——98*1 ——
.—>

Geiven nudm beng  awme % ,%,-%Gl—, :‘2-9—7 {
| £ |
f

coleulation 'pon Nuwnepodors caleulation for> Denominatorg
: : |

D=9 : ; , 3:31 ]
9:9\(3 . '.9:3\/ '
1= 24 . .1 34

10:= 26 29 3% |

Lem of (2, 16,40) 224,54 Lem of (3,99, 27) = 3%
HO PP of (2,8 6 |O> = 229 (ANd= O-CCB,Q,Q'/ 22)-3'-9

2., 8, 164, , 18 2".s
Lom of (¥ %' '%, ‘/2‘7): 7 = 99 |
2., %9, | 10 4 |

c / / / -~ 3 ?
Her o C 787 %9 /g, (29), 2 ~2I l
|




7 Fmd *he moduldte  amd ‘F)ndume{' of - L'L'i

madiit

omd aloo  Polawm, @?‘PB*‘TQXPO'OM‘HQ\ foom |

-y |
A4 +J3¢
hove — ]
AB RS 1-$Bi

(L +@ 4-431)
(4-48i) (4+(BD)
(A+(Ei)7

1V- (37
14203 —3

T A49
—24'2@:4

4 .
- A48
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Dlow Lo of 2= w(COS0 +sino )

=4 €og 5L 4 isie 205

Exponenﬁai Lowmm 18 2 -~ we'®

o i'e;'g'gL

e



i B 8 | VIS

¢ bueiade W x (7 g EE.

> &ien numberg amwe (T x4 & NS~

lex= 161 XA
i = J-lexed X \fa\xc?) - aix
N
= \(fG)(I'V s m\/ ' / @1
€

R} 1)

v
90 Evaluate /U\Odulug cond Ab\?umen-b ok Pz-2 b}’

: T—rmr‘lull\} IS TR

hep aem& 2 = Q\+c

—

Gaven ig 2 = 2+]
S P22V - glg (2+1) ~(240)Y

T olet i -4t 44V
= 6 +Li —4 ~ 4 4
= 1344
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T e

f'\od\g\u'b v = '3J+C‘|)V Qh%umen{:,
-] 4‘
62 tur "_2‘-
e 2 12-4097°

(185~

10. Express A+i{3 in the foom of n(cos 0 +ising)

1)

Let,
” Z= ,’14—.‘@

Moduluy of 2

o (Y 4(J3)”

= .§|+‘f§
Y
Apgu*me"n% of 2,
e = '{‘Oﬂ')‘l (-:{—l}
= ‘EC\'n-l ‘ .\rTé_l
: tom 7' (V3)
= I
9 s ¢
'Therae{’one, v (0080 ~+isin 9) fonm Iy

= R*(@S—%-)— ;gir)%>




